EARAROBREBRT —5 XN—ZXBISH—F

20232818 (K) 12011138

(L BESENIE DS R3E

‘(fﬁ} W ‘I%EH?’JF&] | & 1000 =

[AE%] 17%&:1,800,000  ~ 23&:720,000 37&:450,000 435:270,000 @ . 5 3&:180,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
115l | Frvvs4 3 | fHER 1:(3_3).0 2-2-2-2 |40.2| — | 1 zg; ggég (i)
KRRy I—9ILYI #F:X¥/TUY pla=t e ]
20812 RILR=TUT x> w3 EE R e et B fff; S Sk A @
RiIAYVehY BI—-IVTUT1Y SERIS
3 4 EXHTS 4% 3 Esﬁgﬁoﬂ} 1:(333).8 1-1-1-1 [41.2| - 9 427 %Lﬁ%ﬁgpllmﬁ
Ri5= BRFSYR*R g =
M7 70-0.v7 w3 (g | o | e e - | e st e
R:AN/VwF— B:I4—UVTT— 75 N5
507010 7 TRV T =K 3 | BIR 1340 8967 405 — | 2 ?+530) ABE V16
RVZIVATFa=Ib B:E—FTrv¥a JD—=ILRT7—L
6l5l5|70—>5TVU 4 3 /J*\%?%TE 1( 73;1:; 6-7-5-4 | 40.9| — | 10 z:g;% E?ﬁ; (1)
RT—IVRFII— B:FIBISTYID REKS
71811 RAVRIF=EY 3 | EnES 1(93?:)2 4434 |42 - | 6 | 466 giggﬁ (1)
RINAVRIATERT WY BIAVVFYFIL ) | 52 ES1—57—1
8l1l1 S EP A i 3 3?35'5\532 1:(365).4 11-11-11-10| 41.3 | — 8 43 %@?ﬁﬁ% (1115)
RALYTSYIE BERARSLIU—Y @2 | imis
9 2| 7004 UT— 3 %%E(H):En 1(:13/52')5 CR A Rl I I f{S )fﬁgt;\:?‘ﬂlg)(? (%)
RINIVIATAwIDAUT— BOIRIVAYT DIRIVIT7—LA
1007l 9| x10/0 4% 3 giﬁo?’é)\ 1:(377).0 12-12-11-11| 42.7 | — 12 | 4 g;@_ag’g’ O1lis)
RQNMLVFSY BiAVSEY ®) | J2Eed1—9r—1
' o PN 03 | WL (12317/25) 9-8-109 |43.8| — | 3 ?318) EEE% (1)
RPN/TSYY B:I-URITR "HET7—L
T : BB GG s 1:(348).3 5-4-9-11 | 44.9| — | 4 (4_9“7) Eéﬁﬂ;ﬁémmﬁ)
RiNZ—ka—R §:70-UFPIE5Y AR R—R - IRIAYE - R
@ 11— —®BIEfI
13—7F— 4,6,7,11,3,(2,5),10,8,12,1,9
20—7F— 4,6,7,(2,3,11),5,8,10,12,1,9
30—7— 4,6,(7,11),5,10,12,2,3,8,(1,9)
43—F— 4,6,7,(5,11),12,10,2,8,1,(3,9)
o ILRE
B B 6 180 | | DA K 6-12 280M4 % 3= 5-8 4004 3EE 4-6-12 9,770
7B B 6 1309 4-6 1,320/ B 5-8 520 3EH 6-12-4 21,6604
12 220/ 4-12 4,020 F5 E 6-12 720
4 800 =51 6-12 9504

ABIC OV TRUTEREERRODDZE. THRIIZEL.




